Pre-AP Precalculus
CR 3 - SAT PREP 3

*** w/ Calculator***

Name:

1]  John runs at different speeds as part of his training
program. The graph shows his target heart rate at
different times during his workout. On which
interval is the target heart rate strictly increasing then
strictly decreasing?

p—
(2]
(=

120
\

o]
(=

/ N

i
o

Target heart rate (beats per minute)
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A) Between 0 and 30 minutes

B) Between 40 and 60 minutes
C) Between 50 and 65 minutes
D) Between 70 and 90 minutes

2] s t

In the figure above, lines £ and m are parallel and
lines s and t are parallel. If the measure of Z1 is
35°, what is the measure of Z2 ?

A) 35°

B) 55°

c) 70°

D) 145°

Date:

3]
If y = kx, where k is a constant, and y = 24 when

x = 6, what is the value of y when x=5 7
A) 6
B) 15
C) 20
D) 23

4l Which of the following numbers is NOT a solution

of the inequality 3x-524x-3 ?

A) -1
B) -2
C) -3
D) -5

5] For what value of n is [n—1|+1 equal to 0 ?

A) 0
B) 1
C) 2

D) There is no such value of n.



6]

Course
Algebra I | Geometry Alglelbra Total
Gender Female 35 53 62 150
Male 44 59 57 160
Total 79 112 119 310

A group of tenth-grade students responded to a survey that asked which math course they were currently enrolled in.
The survey data were broken down as shown in the table above. Which of the following categories accounts for

approximately 19 percent of all the survey respondents?

A) Females taking Geometry
B) Females taking Algebra II
C) Males taking Geometry
D) Males taking Algebra I
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The complete graph of the function f is shown in the
xy-plane above. For what value of x is the value of
f(x) at its minimum?
A) -5
B) -3
C) -2
D) 3
8] y<-x+a
y>x+b

In the xy-plane, if (0,0) is a solution to the system of
inequalities above, which of the following
relationships between a and b must be true?

A) a>b
B) b>a
C) |a|>|b]
D) a=-b

9]

A food truck sells salads for $6.50 each and drinks for
$2.00 each. The food truck’s revenue from selling a
total of 209 salads and drinks in one day was

$836.50. How many salads were sold that day?

A) 77
B) 93
C) 99
D) 105

10]

Alma bought a laptop computer at a store that gave a
20 percent discount off its original price. The total
amount she paid to the cashier was p dollars,
including an 8 percent sales tax on the discounted
price. Which of the following represents the original
price of the computer in terms of p ?

A) 0.88p

B L

0.88

C) (0.8)(1.08)p

4
D) (0.8)(1.08)



